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Winter 2018 www.mystudybro.com Accounting Paper 1

e Past Paper This resource was created and owned by Pearson Edexcel 4ACO
4 )
14 Tornby, a manufacturer of children’s toys, provided the following information for the
year ended 31 October 2017.
£
Stock 1 November 2016
Finished goods 68 000
Raw materials 45 000
Work in progress 13650
Stock 31 October 2017
Finished goods 62 000
Raw materials 50 600 ?%%
o
Work in progress 16 105 %‘.;,;
iz
: O
Factory machinery 29
o
-~ ite
Cost 350 000 =
4
Accumulated depreciation 200 000 Z
s
o
Office equipment ";
Cost 75 000 7
0s 02'3
- proce::
Accumulated depreciation 25 000 K558
o
e
S5
S5
&
Direct factory wages 78 600 o
GRS
o
Heat and light 26 000 ‘ég :
g
Indirect factory wages 28 930 S
Insurance 1750
Purchases of finished goods 22 000
Purchases of raw materials 245 000
Rent and rates 8 000
Revenue 563 000
. J
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Winter 2018 www.mystudybro.com Accounting Paper 1

Past Paper This resource was created and owned by Pearson Edexcel

Additional information

« On 31 October 2017 insurance paid in advance amounted to £250 and direct
factory wages owing were £1 400.

« Heat and light, insurance, and rent and rates are to be apportioned 3 to the
factory and % to the administration building.

« Factory machinery is depreciated at the rate of 25% on the reducing balance
basis.

«  Office equipment is depreciated at the rate of 20% on a straight line basis.

(@) Prepare the manufacturing account for the year ended 31 October 2017.

Tornby

Manufacturing Account For The Year Ended 31 October 2017
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e Past Paper This resource was created and owned by Pearson Edexcel 4ACO
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Winter 2018 www.mystudybro.com Accounting Paper 1
Past Paper This resource was created and owned by Pearson Edexcel AACO oo
( )
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(b) Prepare the income statement for the year ended 31 October 2017.
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Tornby

Income Statement For The Year Ended 31 October 2017
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Winter 2018 www.mystudybro.com Accounting Paper 1
e Past Paper This resource was created and owned by Pearson Edexcel 4ACO
( )

(c) Prepare an extract of the balance sheet to show the fixed assets at 31 October 2017.
(5)

Tornby
Extract Of The Balance Sheet At 31 October 2017

(Total for Question 14 = 25 marks)
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Winter 2018 www.mystudybro.com Accounting Paper 1

Past Paper (Mark Scheme) This resource was created and owned by Pearson Edexcel 4ACO
Question Answer Mark
Number
14 (a) (10)

Award marks as shown

Tornby
Manufacturing account for the year ended
31 October 2017.

£ £
Opening stock raw materials 45 000
Purchases 245 000
290 000
Closing stock raw materials 50 600
Cost of raw materials consumed 239 400
(M)yw+f
Direct factory wages 80 000
M
Prime cost 319 400
(1Tof) w + f
Overheads
Heat and light 19 500 (1)
Insurance 1125
M
Rent and rates 6 000 (1)
Indirect factory wages 28 930 (1)
Depreciation - machinery 37 500 (1)
93 055
412 455
Opening stock work in progress 13 650
Closing stock work in progress (16 105) | (2 455) (1)
Production cost 410 000
(1of w + f)

MSB - Page 6



Winter 2018
Past Paper (Mark Scheme)

www.mystudybro.com
This resource was created and owned by Pearson Edexcel

Accounting Paper 1

Tornby

Income statement for the year ended
31 October 2017.

Question Answer Mark
Number
14 (b) Award marks as shown (10)

£ £
Revenue 563 000
Cost of sales
Opening stock - FG 68 000
Production cost 410 000
(10of)
Purchases of FG 22 000 (1)
500 000
Closing stock - FG 62 000
(1)
Cost of sales 438 000
(1 of)
Gross profit 125 000
(1 of)
Expenses
Heat and light 6 500 (1)
Insurance 375 (1)
Rent and rates 2 000 (1)
Depreciation office 15 000 (1)
equipment
23 875
Net profit 101 125
(10f)

MSB - Page 7
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Winter 2018 www.mystudybro.com Accounting Paper 1

Past Paper (Mark Scheme) This resource was created and owned by Pearson Edexcel 4ACO
Question Answer Mark
Number
14 (c) Award marks as shown (5)
Tornby

Extract of the balance sheet
at 31 October 2017.

£ £ £
Fixed assets Cost Depr Net book
value
Factory machinery 350 000 237 500 112 500
(1 of) (1 of)
Office equipment 75 000 40 000 (1 | 35000
of) (1 0f)
425 000 277 500 147 500
(1 of)

(Total for Question 14 = 25 marks)

MSB - Page 8



Winter 2017 www.mystudybro.com Accounting Paper 1
m—— Past Paper This resource was created and owned by Pearson Edexcel 4ACO

14 The following information was extracted from the books of Mihai Manufacturing on
31 December 2016 at the end of the first year of business.

£
Raw materials 55213
Work-in-progress 12 543
Finished goods 82134
Production cost 236 112
Purchases of finished goods 96 022

Mihai Manufacturing marks up its cost of sales by 50%.

(@) Prepare the trading account for the year ended 31 December 2016.

Mihai Manufacturing
Trading Account
Year ended 31 December 2016
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Winter 2017 www.mystudybro.com Accounting Paper 1
~ Past Paper This resource was created and owned by Pearson Edexcel 4ACO e
4 )

Mihai Manufacturing sells all goods on credit, with debtors being allowed 30 days credit.
On 31 December 2016 total debtors were £56 515.

(c) Calculate the debtors’ collection period.

(2)
(d) Explain the implications for the business of the debtors’ collection period.
(3)
(e) Suggest three steps that Mihai Manufacturing could take to improve the debtors’
collection period.
(3)

(Total for Question 14 = 15 marks)
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Winter 2017

Past Paper (Mark Scheme)

www.mystudybro.com
This resource was created and owned by Pearson Edexcel

Question Answer Mark
Number
14 (a) Mihai Manufacturing (6)
Trading account
Year ended 31 December 2016
£ £
Revenue* 375 000 (2/10f)
Cost of sales
Production cost 236112 (1)
Purchases of FG 96 022 (1)
332134
Closing stock - FG 82134 (1)
Cost of sales 250 000
Gross profit 125 000 (10f)
Award marks only where candidate has calculated the revenue
figure based on 150% of cost of sales (of)
Question Answer Mark
Number
4 (b) Award 1 mark for any suitable suggestion. (1)
Sample responses
To meet an urgent order
Machinery breakdown
Delays in production
Cheaper to purchase than produce
Question | Answer Mark
Number
14 (c) Award 2 marks for correct calculation. (2)
56 515/375 000 (1of) x 365 =
55 days (10f)
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Past Paper (Mark Scheme)

www.mystudybro.com Accounting Paper 1

This resource was created and owned by Pearson Edexcel

Question
Number

Answer

Mark

14 (d)

Award (1) mark for identifying that the collection period has
exceeded that allowed.

Award (1) mark for identifying the effect on the businesses
ability to pay its own debts and (1) mark for stating that bad
debts may increase. up to 3 marks

Sample answer

The debtor’s collection period exceeds (1) the period allowed
by Mihai Manufacturing. This could result in the business being
unable to meet its own debts (1). There is also a possibility
that bad debts may increase (1)

(3)

Question
Number

Answer

Mark

14 (e)

Award 1 mark for each appropriate suggestion (Max 3)
Sample responses

Offer cash discount for early payment
Send out regular statements of account
Charge interest on late payments

Stop selling on credit

(3)

MSB - Page 12
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1mer 2016 www.mystudybro.com Accounting Paper 1
Paper This resource was created and owned by Pearson Edexcel 4ACO

13 Sohal, a manufacturer of footwear, provided the following information for the year
ended 31 March 2016.

At At
1 April 2015 | 31 March 2016

£ £
Raw materials 3600 4000
Work-in-progress 5800 6100
Finished goods 19 600 26 600

(@) Explain the difference between each of these types of stock.

In addition the following information was provided for the year ended 31 March 2016.
£
Purchases of raw materials 390 600
Direct wages 110 000
Salary of factory supervisor 45 000
Carriage on raw materials 9800
Sales and administration costs 159 000
Depreciation of factory machinery 33000
Rent 30 000
Power 5000
Insurance 8000

The costs of rent, power and insurance are apportioned 60% to the factory and 40%
to the office.

(b) Prepare the manufacturing account for the year ended 31 March 2016.
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ger 2016

Paper

www.mystudybro.com Accounting Paper 1
This resource was created and owned by Pearson Edexcel 4AC01
Sohal

Manufacturing Account Year ended 31 March 2016

DO NOT WRITE IN THIS AREA

DONOTWRITEINTHISAREA

DONOTWRITE INTHISAREA

(Total for Question 13 = 15 marks)
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Summer 2016
Past Paper (Mark Scheme)

www.mystudybro.com Accounting Paper 1

This resource was created and owned by Pearson Edexcel

Question | Answer Mark
Number
12 (biv) | £180 000 (10of) /217 925 x 100 = 82.60% (10f) (2)
Question | Answer Mark
Number
12 (c) Award up to 2 marks for an appropriate comment on each | (5)
profitability ratio (Max 4 marks).
Award 1 mark for a concluding statement
Sample answers
The mark-up has decreased from 30% to 25%. This indicates that
Aaron is either selling his goods at a lower price (1) and/or
purchasing his goods at a higher price (1) than the previous year.
The net profit percentage had decreased from 20% to 15%. This
indicates that Aaron may be spending more money on his
overheads this year than previously (1). However this may be due
to the decrease in his mark up rather than any increase in
overhead costs (1)
The return on capital employed has increased from 65% to 82.6%
which indicates that Aaron is earning more profit from his capital
this year than the previous year (1). This may be due to improved
efficiency is his business operations (1)
In spite of a decrease in his mark up Aaron’s business’s
profitability is improving which is evident from the increase in the
capital employed (1)
Question | Answer Mark
Number
13 (a) Raw materials stock is the stock of crude or processed material | (3)
that can be converted by manufacture into a saleable good (1).
Work in progress stock is goods which have started their
manufacturing process so are no longer included in the raw
materials stock, but have not yet reached a stage where they are
fit to be sold (1)
Finished goods stock is goods which have completed the
manufacturing process and are available to be sold (1)
4ACO0_01
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Past Paper (Mark Scheme)

www.mystudybro.com

This resource was created and owned by Pearson Edexcel

Accounting Paper 1

Question | Answer Mark
Number
13 (b) Sohal (12)
Manufacturing Account
Year ended 31 March 2016
£ £ £
Opening stock RM 3600 (1 for
both)
Purchases RM 390
600
394
200
Carriage inwards 9 800 (1)
404
000
Closing stock RM 4 000
Cost of raw materials 400 000 1)
consumed
Direct wages 110 000 (1)
Prime cost 510 000 (10f)
Overheads
Factory supervisor 45 000 (1)
salary
Factory machinery dep 33000 (1)
Rent 18 000 (1)
Power 3000 (1)
Insurance 4 800 (1)
103 800
613 800
Opening stock WIP 5800 (1for
both)
Closing stock WIP (6 100)
Production cost 613 500 (10f)
4ACO0_01
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Winter 2015

e Past Paper

14 Red Limited manufactures footwear. It provided the following information for the year

www.mystudybro.com

ended 31 October 2014.

Stocks 1 November 2013: Raw materials

Work in progress

Finished goods

Purchases of raw materials

Carriage on raw materials

Direct factory wages

Indirect factory wages

Factory machinery - cost

Factory machinery — provision for depreciation
Factory power

Heat and light

Rent and rates
Stocks 31 October 2014: Raw materials

Work in progress

Finished goods

Additional information

On 31 October 2014 insurance paid in advance amounted to £500 and direct factory

wages owing were £6 400.

Heat and light, insurance, and rent and rates are to be apportioned 3 to the factory and

Va to the administration building.

Factory machinery is depreciated at the rate of 25% on the reducing balance basis.

16
MSB - Page 17

P 4 4 6 1 0 A 01 6 2 0

Accounting Paper 1

This resource was created and owned by Pearson Edexcel

£

45 000
13 650
68 000
262 000
9000
78 600
28 930
350 000
200 000
22 379
26 000
1500
8000
51 000
13 709
76 000

4ACO



Winter 2015 www.mystudybro.com Accounting Paper 1

Past Paper This resource was created and owned by Pearson Edexcel AACO oo
( )
(@) Prepare the manufacturing account for the year ended 31 October 2014.
(10)
Red Limited
Manufacturing Account for the year ended 31 October 2014
_ J
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Winter 2015 www.mystudybro.com Accounting Paper 1
e Past Paper This resource was created and owned by Pearson Edexcel 4ACO

After preparation of the manufacturing account for the year ended 31 October 2014,
a profit and loss account was prepared for the same period. It showed that net profit
for the year was £113 000. The balance sheet showed that capital employed on 1
November 2013 was £565 000.

The return on capital employed has decreased from 28% for the year ended 31 October
2012 to 25% for the year ended 31 October 2013.

(b) (i) Calculate the return on capital employed for the year ended 31 October 2014.
Use the capital employed figure on 1 November 2013 for your calculation.

Formula Calculation

(ii) Evaluate the significance of this ratio for Red Limited and state, with reasons,
whether you believe that the company is operating efficiently.

(Total for Question 14 = 17 marks)

18
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Past Paper (Mark Scheme)

www.mystudybro.com
This resource was created and owned by Pearson Edexcel

Accounting Paper 1

Question | Answer Mark
Number
14 (a) (10)

Red Limited

Manufacturing account for the year ended 31 October 2014.

£ £ £

Opening stock — raw materials 45 000
Purchases of raw materials 262 000

307 000
Carriage on raw materials 9 000

316 000
Closing stock — raw materials 51 000
Cost of raw material consumed 265 000 (@)
Direct factory wages(78600 + 6 85 (D
400) 000
Prime cost 350000 | (D
Factory overheads
Indirect factory wages 28 930
Factory power 22 379
Heat and light 19 500 (1D
Insurance 750 (1D
Rent and rates 6 000 (@)
Depreciation — factory 37 500 (D
machinery

115 059
465 059

Opening work in progress 13 650
Closing work in progress (13709) | (D
Production cost (1) 465 000 | (D)

MSB - Page 20
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Accounting Paper 1

Past Paper (Mark Scheme) This resource was created and owned by Pearson Edexcel
Question | Answer Mark
Number
14 (b)(i) Net profit/Capital employed x 100 (1) (@))

113000/565000 x 100 = 20% (1)
Question | Answer Mark
Number
14 (b)(ii) | Award (1) for identifying that the ROCE is worsening over | (5)

the three year period.

Award up to (3) for statements relating to how efficent or
otherwise the company is.

Award (1) for an appropriate conclusion.

Sample answer

The ratio indicates that their ROCE has declined (1) over
the three year period. This indicates that the company is
not (1) operating as efficiently (1) as it should be and
that they are not making the most effective use of their
capital employed (1). If this trend contnues shareholders
may decide to sell their shares and the company may
have difficulty attracting further investments in the future

).

MSB - Page 21
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Summer 2014 www.mystudybro.com Accounting Paper 1
e Past Paper This resource was created and owned by Pearson Edexcel 4ACO

13 The following information was extracted from the books of Ajit Manufacturing on
31 March 2014.

1 April 2013 31 March 2014

Stocks:
Raw materials £26 000 £31 000
Work in progress £15 000 £12 000
Finished goods £186 000 £217 500
For the year ended 31 March 2014
Purchases of raw materials £134 000
Carriage inwards £1 000

Factory wages:

Direct £70 000
Indirect £22 000

(a) Explain the difference between direct and indirect factory wages.

14
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Summer 2014 www.mystudybro.com Accounting Paper 1
Past Paper This resource was created and owned by Pearson Edexcel AACO

On 31 March 2014 Ajit's Manufacturing’s trial balance failed to agree and the
difference was entered into a suspense account. The following errors and omissions
were later discovered.

1 Aninvoice from a supplier for £500 had not been entered in the books.

2 Stock valued at £360, taken by Ajit, had been debited to both the drawings
account and the purchases account.

3 Asale of goods, £245, had been entered correctly in the bank account but no
other entries had been made.

4 The total of discount received, £68, recorded correctly in the cash book, had been
debited to discount allowed.

(c) Complete the following table to show the necessary entries to correct these errors

and omissions.

Errors/ Account(s) to be Amount (£) Account(s) to be Amount (£)
omissions debited credited

1

2

(Total for Question 13 = 16 marks)
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Summer 2014 www.mystudybro.com Accounting Paper 1

Past Paper (Mark Scheme) This resource was created and owned by Pearson Edexcel 4ACO
Question | Answer Mark
Number
12(c) Award (1) mark for indication satisfaction/dissatisfaction with the ratio with a

further (1) mark for any development. Award up to a further (2) marks for an
indication that the current ratio may be too high. A final (1) mark can be awarded
for an appropriate conclusion.
Sample answer
Shaw will be satisfied (1) with this ratio as it indicates that he is able to meet his
short term debts (1)
However Shaw may have too much money tied up in his current assets (1) as a
ratio which exceeds 2:1 can indicate poor management of the current assets (1)
Although ratios between 1.5:1 and 2:1 are generally regarded as satisfactory
consideration also needs to be given to the size and type of the business which
Shaw operates (1) (5)
Question | Answer Mark
Number
13(a)
Direct wages is the term used to describe the cost of the wages of the people who
are employed in the factory making the goods (1) whereas indirect wages refers
to the wages of those staff that are not directly involved in the manufacture of the
product such as supervisors (1) (2)
Question | Answer Mark
Number
13(b) £ £
Opening stock raw materials 26 000
Purchases raw materials 134 000 (1 cf)
Carriage inwards 1 000 (1 cf)
161 000
Closing stock raw materials 31 000 (1 cf both)
Cost of raw materials consumed 130 000 (1 of)
Direct wages 70 000 (1 cf)
Prime Cost 200 000 (1 of) | | (6)
4AC0_01
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Past Paper (Mark Scheme) This resource was created and owned by Pearson Edexcel 4ACO
Question | Answer Mark
Number
13(c) Error Account(s) to be | Amount Account(s) to be Amount

debited () credited (E)
1 Purchases 500(1) | Supplier/Creditors 500(1)
control
2 Suspense 720 (1) | Purchases 720(1)
3 Suspense 245 (1) | Sales 245(1)
4 Suspense 136 (1) | Discount allowed 68(1 for
both)
Discount received 68 || (8)
Award (1) mark for each correct entry — mark for both correct account name and
amount. Do not accept names of books.
Question | Answer Mark
Number
14 (a) Date Transaction Explanation Double Entry
Oct 12 | Cash book A cheque or cash payment has | Credit side of the
been made for insurance (1) bank/cash account
OR credit cash
book (1)
Oct 12 | Discount Cash discount received (1) by Credit side of the
Rekha discount received
account (1)
Oct 31 | Profit and The transfer to the profit and Debit side of the
loss loss account for the expense of | profit and loss
insurance for the period (1) account (1)
Oct 31 | Balance c/d The value of insurance Debit side of the
prepaid/paid in advance (1) at insurance account
the end of the period. (2)
(8)
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